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Cuadro 21/Table 21
Venezuela (República Bolivariana de): tablas abreviadas de mortalidada

Venezuela (Bolivarian Republic of): abridged life tables 
a

1950

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.132 0.121  100 000  12 116  91 882 0.861 b 5 210 460 52.1
1 4 0.013 0.052  87 884  4 561  338 669 0.963 c 5 118 578 58.2
5 5 0.002 0.011  83 323   883  414 410 0.990 4 779 909 57.4

10 5 0.002 0.009  82 441   731  410 375 0.988 4 365 499 53.0
15 5 0.003 0.015  81 709  1 186  405 582 0.983 3 955 124 48.4
20 5 0.004 0.020  80 523  1 614  398 584 0.978 3 549 542 44.1
25 5 0.005 0.024  78 910  1 867  389 883 0.974 3 150 958 39.9
30 5 0.006 0.028  77 043  2 160  379 818 0.968 2 761 075 35.8
35 5 0.007 0.036  74 884  2 667  367 752 0.958 2 381 257 31.8
40 5 0.010 0.048  72 217  3 440  352 485 0.944 2 013 505 27.9
45 5 0.013 0.065  68 777  4 487  332 668 0.923 1 661 019 24.2
50 5 0.019 0.090  64 290  5 772  307 022 0.894 1 328 351 20.7
55 5 0.026 0.123  58 519  7 212  274 563 0.856 1 021 329 17.5
60 5 0.036 0.168  51 307  8 614  234 998 0.806  746 765 14.6
65 5 0.051 0.226  42 692  9 657  189 319 0.742  511 767 12.0
70 5 0.070 0.300  33 035  9 918  140 382 0.663  322 448 9.8
75 5 0.097 0.391  23 118  9 030  93 013 0.570  182 067 7.9
80 5 0.133 0.496  14 088  6 981  52 985 0.466  89 054 6.3
85 5 0.181 0.609  7 107  4 331  24 706 0.359  36 069 5.1
90 5 0.245 0.723  2 776  2 006  8 864 0.254  11 363 4.1
95 5 0.335 0.832   770   641  2 247 0.101 d  2 500 3.2

100 ω 0.512 1.000   129   129   252   252 2.0
Mujeres/Females

0 1 0.120 0.111  100 000  11 134  92 763 0.871 b 5 470 031 54.7
1 4 0.013 0.050  88 866  4 479  342 922 0.963 c 5 377 267 60.5
5 5 0.002 0.010  84 388   881  419 734 0.991 5 034 345 59.7

10 5 0.001 0.007  83 506   576  416 090 0.991 4 614 611 55.3
15 5 0.002 0.010  82 930   847  412 532 0.987 4 198 521 50.6
20 5 0.003 0.016  82 083  1 328  407 095 0.983 3 785 989 46.1
25 5 0.004 0.019  80 755  1 505  400 014 0.980 3 378 894 41.8
30 5 0.004 0.022  79 251  1 739  391 904 0.974 2 978 880 37.6
35 5 0.006 0.029  77 511  2 267  381 889 0.965 2 586 976 33.4
40 5 0.008 0.041  75 244  3 060  368 571 0.951 2 205 087 29.3
45 5 0.012 0.057  72 184  4 102  350 666 0.932 1 836 515 25.4
50 5 0.016 0.079  68 082  5 390  326 936 0.906 1 485 849 21.8
55 5 0.023 0.110  62 692  6 874  296 276 0.871 1 158 913 18.5
60 5 0.032 0.151  55 818  8 411  258 063 0.824  862 637 15.5
65 5 0.045 0.205  47 407  9 712  212 755 0.764  604 573 12.8
70 5 0.063 0.275  37 695  10 353  162 590 0.689  391 819 10.4
75 5 0.088 0.361  27 341  9 879  112 009 0.599  229 228 8.4
80 5 0.122 0.464  17 462  8 101  67 058 0.496  117 219 6.7
85 5 0.167 0.578  9 361  5 409  33 281 0.388  50 161 5.4
90 5 0.227 0.694  3 951  2 743  12 899 0.276  16 880 4.3
95 5 0.325 0.823  1 208   995  3 555 0.107 d  3 980 3.3

100 ω 0.502 1.000   214   214   426   426 2.0

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


